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RN SECTION A ; : . 2
Note : i) Answer all quest}nns. 3 0 10 x 2 =20

i) Each questiﬂn carries two marks.

ii1) All are ver}r short answer type questi \O

@ What is the dlscmrer}r made b}’ e Rar@@'

\®/Hnw can systemat-m errors be mini 6&* eliminated?
\@ﬁ ‘A =i +j- What is the angle‘t@n;a véctﬂi" and the X=a:-:is?

L.

i T
"

@4%.&1: is inertia? Wha @:he measure of inertia?

-

@ If the diameter oap bubble is 10 mm and its surface tension is

0.04 N:"n;, ﬁn@ excess pressure inside the bubble.
S

].r s and bubbles sphéri{:al?
@@ﬂ hre the units and dimensions of a specific gas constant?

@41 entilators are provided in rooms just below the roof. Why?

When does a real gas behave like an ideal gas? ' ;

@e Dalton's law of partial pressui*es.
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SECTION B
Nutﬁ: - ﬁnsxa.;er Eui_',r §iX questions. e 6 x4=24
i) Each question carries four marks. - _ '
iii) - All are1 short answer type questions.

@/State the parallelogram law of vectors. Derive an expression for the
magnitude and direction of the resultant vector.

\/@’ Show that the maximum height reached by a projectile i.aun-::hed at an
angle of 469 is one quarter of the range. @

\/@ Mention the methods used to deerease friction. | O |
Find the torque of a force 7i +3j —5.!: about the origin. The fc-rc cts on

a particle whose position vector is i —j +k .

Elzlstmgulsh between the center of mass and the ce&\; gravity.
What is orbital velocity? Obtain an expressio @'
Define strain energy and derive the eq @or the same. 3 Y

\_@ In what way is the anomalous be f water advantageous to an
aquatic animal? ¢ e | ~ -

T

| NC
Note : i) Answer any tw%. \ g A
1) Each question 18 eight marks.
i) All are lon er type questions.
Develop the 1# of work and kinetic energy and show that they lead

bE @huw that the motion of a simple pendulum is s_imph;. harmonic and hence
ve an equation for its time period. What is a seconds pen_:iulum?

E}ﬁplain reversible and irrevers_iihle processes. Describe the working of a
~ Carnot engine. Obtain an expression for the efficiency.
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